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1. O o BRems $ooRFRE SR 5. 300 Sectdndy, WBoIRR I Soﬁ@o&o:

A) 1966 B) 1967 A) 5T°.2.2. B) Swoas

C) 1968 D) 1969 C) B5oFd ?3023033?1%'30 D) geow A%
Currency notes are issued by:

Lead Bank Scheme was started in A) RBI

A) 1966 B) 1967 B) NABARD

C) 1968 D) 1969

C) Public sector banks
D) Central Government

2. SRECdE Myesd WROBRY SROTJH,

RRoRT/=. 6. QDT WY, B2 TSNT BRJYTE WEBTLTNG?
A) deoq =BT A) Teo 3R0DED

B) ooz, ®z0eT B) i85 $9t0deyed

C) B@IFT L3O C) 20980 Feesshow

D) &0edT 2Te &0oEso3N D) 30T dORP

RRBs are owned by: ATM can be used for:

A) Central Govt. A) Cash withdrawal

B) State Govt. B) Balance enquiry

C) Sponsor Bank C) Statement of account

D) Jointly by all the above D) All of above

3.3R03c0% O mﬁoéﬁ T3 (e 2024) AN 7 e m%@w:&& HRIDTIY W ma:gw
03307 wxsons:
A) 228808 A) 08 SR TSR
B) &.3.2080 B) T603 59030 230
C) 385008 % C) B0BT [wT0BES Fo03TOF 23T
D) &500e8%° 201 93modoR D) 2093 odnITp 9
Who is the present (May 2024) Governor The important tool by which RBI influences
of RBI? the Money Supply:
A) K.C. Chakrabarty A) Open Market Operation
B) D K Mittal B) Money Operation
C) Shaktikanta Das C) Closed market Operation
D) Montek Singh Ahluwalia D) None of the Above

4. §32 QoTT: 8. sTh.R.. m%@%dw&aod TRER):
A) Know your customer A) 1945 B) 1949
B) Know your character C) 1935 D) 1911
C) R0eDI TTER RBI was nationalized in.....
D) &0ed3 oSogp w9 A) 1945 B) 1949
KYC means: C) 1935 D) 1911
A) Know your customer 9. 837 oL BpcE Wb, Jvobws S FUNI
B) Know your character CIRRYTY, AL IS E et
C) Both of above A) QTFDAEST B) L.aso?
D) None of above C) wzF ST D) 20edT odnmge 9
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What method is used by the bank to read | 14. o353 35008 mse’:z:s23 wgne;s;gl DeRTIT?

Code on cheque? A) BOT0WOT LOT
A) MICR B) OCR B) tm08ne0n wR0nen
C) OMR D) None of the above

C) tROBVNYOT FOTINYT

TETFL -
10. DDFTRTT2 ERETRY T, WOINYI? D) 8omaigon medimeoon
A) 10 B) 11
C) 12 D) 13 Who issues ‘Commercial Papers’?
How many digits are in there in IFSC code? A) A Company to a Bank
A) 10 B) 11 B) Banks to Banks
O 12 D) 13 C) Banks to Company
11. 82 390 G390 BEord WR0% ¥ T TBRYED, D) Company to its Suppliers
BRONT?

15. 03T ToRO3N TOMTT WOT aémﬁdaﬁ:ez
A) 0T S5 QORI ?

o e o 39RIH?
500 T tADYe)
)"j 5 5 A) 20 B) 2205
C) Few® w007 &5 RelelzIehwp)
« C) QFSTUD D) 2&T°8x

D) t,05 s wBeemo
Which organization provides Credit
Which of the following Public Sector Banks

History of the Borrowers?
has the highest number of branches in

A) CIBIL B) CII
India?
A) Bank of India C) FRBI D) IRDA
B) Punjab National Bank 16. 559038 #eom WROIT TORFNTRY, [T
C) State Bank of India BoBess:
D) Bank of Baroda A) ;o@@s IROT ST ORI
12. 33 3$AT O35= s53N WRO W03 BRTTH? B) 0xE 07 €T ol
A) DA B) st%° C) Betr® 05 ©FF QORI
C) QW RITA D) QF 2z 04 D) @owoe) DITS LR,08

Which is the largest private sector bank The central banking functions in India are

in India?

. performed by the
A) ICICI B) Axis A) Central Banik of Indi
C) HDFC D) HSBC ) Central Bank of India
B) Reserve Bank of India
- 9,9
13. mojizgdaﬁww WOT LI m@w”d méo%) C) State Bank of India
o
o D) Punjab National Bank
A) RTFIFDR B) 977200

C) 537 0w D) Qi BT 0% 17. 33 3SNT BRYT ST® VT ROPFRY?
A) SNy BeoRm
B) 33200 woéosc@

Which is the First Bank to introduce ATM

In India?
A) HSBC B) SBI C) Beed ReBOROTYT
C) Axis Bank D) HDFC bank D) &3 2oogee
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Which of the following is not a function of | 22. é’edtéoﬁbdaol 2B02TRN, OB =TS,
RBI? MBI EHTTH.

A) Issue Currency A) 3BT ) BT

B) Banker to the Government B) 3o o3y 3R

C) Accept Deposit C) 0edT BRFp @Y

D) Control Credit D) 3¢5 20@R

While accepting deposit, a banker becomes
and customer is

18. (02RO MpF® RTHBICHRY, VPO Soféoiaa:

A) $T°.0.%0. B) 83.0°..%0. A) Creditor and debtor

C) o722, D) 7. 2.20.%. B) Debtor and Creditor

Agency that regulates stock markets in C) None of these

.. D) Both of the above

India is:

A) RBI B) TRAI 23. 200%° Q0TT:

C) SBI D) SEBI A) 3T OO BORT',

B) 30¢eT® LR0B0TT HORTT',

19. dexy) 3e. 8T [T wR CSCS% on. 1000/—530z C) T L,080TF BORR

moéé TERQEO. AT IR ToTT AR D) 3@z LROIONT HORTT',

QETICTT Wi, HRSH):

A do. 1320 w o= BYae. 1220 CBS stands for ........

) O ) 8. A) Code Banking Solutions
C)dw. 1420 D) 3dw. 1020

B) Core Banking Solutions

You have borrowed Rs. 1000/~ at a simple C) Common Banking Solutions

interest rate of Rs. 8 per cent per annum. D) Credit Banking Solutions

The total sum payable after two years is: 24, 9T°083° 2oL a%ﬁ%ﬁe;m‘% &en ;‘m?\% mammgcs:

A)Rs. 1320 B) Rs. 1220 A) 2ROIT INW 52063059
C) Rs. 1420 D) Rs. 1020 B) 28300 @eos
C) w033 38R FYRRPTT RO
20. [T m@ﬁa’s’oﬁmcﬁ TRER): D) 3695 0SRFR @Y
A) 1981 B) 1982
C) 1991 D) 1992 Account payee cheques can be paid:
A) At cash counter of Bank
NABARD was established in the year: B) At ATM
A) 1981 B) 1982 C) By depositing in Bank account
C) 1991 D) 1992 D) None of above
25. O30T wWRETN, ‘WO 9T’ Q0
21. wo%on® TOTOTEHBN HTLTT SRE? BBCHRMHITI?
A) 1996 B) 1901 A) mzézss PROB  B)Fk oD
C) 1991 D) 1989 C) Buws @0 D) 3e0T, 0w
When did the banking sector reforms Which bank is called lender of last resort?
initiate? A) Commercial bank
A) 1996 B) 1901 B) Agricultural bank
C) Industrial bank
) 1991 D) 1989 D) Central bank
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26. 2001-2011 S TS uﬁﬁo&%o&: ntol: 1o

BU=e3R TSR
A)17.64 B) 15.64
C)15.64 C) 14.04

India’s population grew at the rate of
during 2001-2011 decade.

A)17.64 B) 15.64
C)15.64 D) 14.04

27. ©Re08T TOOINE xom@‘adg e.-aqs‘ﬁi\eoﬁ
woma’ﬁﬁ@m& ______ dﬁ?ﬁ@ﬁ.@ﬁoﬁ
SRR,
A)3 B) 4
C)5 D) 6

In the United States of America, the
presidential elections are conducted once in

years.
A)3 B) 4
)5 D) 6

28. The Grand old man of India Q0% 035
5803:%:3:%:263?

A) Ton ORTSTTTIOIT
B) coonomegs 8w

C) RTeOTTFH LRIBE
D) T5oTo025000 SwBRees

Who among the following is called as the
‘The Grand old man of India’?

A) Lala Lajpat Rai

B) Bal Gangadhar Tilak

C) Surendranath Banerjee

D) Dadabhai Naoroji

29. T $PTPTY MOREBCHTT $BFHT B!
A) The Phoenix settlement
B) Sarvodaya Enclave
C) Young Africa
D) Sabarmati

The name of Gandhiji’s Ashram in
South Africa was:

A) The Phoenix settlement

B) Sarvodaya Enclave

C) Young Africa

D) Sabarmati

5

30. “T[eTTOOXO0RT T3 “RONTEFR” Q0W

NTTT0ES:
A) DTIEDFED B) Svmo0es
C) AP3a wod@ D) »35¢3

The person who was given the titles like
‘Devanampriya’ and ‘Priyadarshini’ was:
A) Harshavardhan B) Mahaveer

C) Gautam Buddha D) Ashoka

31. N0 e TFIEOT YOMRVTT, TRONTLEI
QT BRFYT?
A) @ﬁowéss B) At0e03a
C) ReDNTF® D) @O@ﬁéw
The coal with the highest carbon content is:
A) Lignite B) Subbituminous
C) Bituminous D) Anthracite

32, VR ARRBEER, T RATEL:
A) To0 PBRCTFFTOIT
B) Tcdnzon 703
C) Rpesne 3F Reesd
D) IpFRT DT0RET

Brahma Samaja was established by:

A) Raja Ram Mohan Roy
B) Dayanand Saraswati

C) Gopal Krishna Gokhale
D) Vardhaman Mahaveer

33. 3o03 Be3RY YT HTVFPRWW ITIe?

A) 30ox0 B) Zxo0
C) Io=0 D) ooT°
Name of the Indian desert is:
A) Kalahari B) Sahara
C) Narahari D) Thar
34. ‘%zﬁ%@’ QOWOTR O3 mz:écs %36?
A) 3eT$ B) s5oFe3s
C) &&30 D) mmmﬁ
‘Kathakkali’ is a dance form of which state?
A) Kerala B) Karnataka
C) Odisha D) Maharashtra
35. BRoeS X¥eB O30T QWY 3RT3W?
A)A B)B c)C DD



The sunlight is related to Vitamin:
A)A B)B c)C DD

36. 110 xos%ﬁ BRI xomégd:zscg DD TOTIHTN:

A) XC B) CX

O)LX D) BX

What is 110 in Roman number system?
A) XC B) CX

O)LX D) BX

37. ‘6320, BoPU, BeeoOLS R 3D oty

33?

A) Bredm I

B)a. . T0mn

C) w0t mozew ©oLserT
D) Svzmozs, Mooy

‘Educate, Organize, Agitate’ is proclaimed
by:

A) Jyotiba Phule

B) EV Ramaswamy

C) Baba Saheb Ambedkar

D) Mahatma Gandhi

38. TR0 TRWF WHTPOL ToORTTL C350T0?

A) BTeoTTFH LT[R

B) 2. sT°. oo

C) Bpeceene I

D) v, o

Who led the Home Rule Movement?
A) Surendranath Banarjee

B) C.R. Rao

C) Motilal Nehru

D) Anni Beasant

39. ‘e:og o T d:z;%seld W2 N @os:?gs:sas:&

RBXTHTRT:
A) 20 xoﬁ@
C) ams® "oF)

B) 3eows B5oFT
D) 35osw3s Bwoe 3

The mid-day meal programme ‘Akshaya
Patre’ is run by:

A) Siri Sansthe

B) Central Government

C) ISKCON

D) State Government

6

40. RTITY T RT N’ TONET IR, BN

QT Uaz:.@:
A) 208008003 B) «v283 T@es
C) 203 D) &=k H[u3es

The state in which the famous ‘Chaar
Dhaam’ pilgrim centers are located, is:

A) Uttarakhand B) Uttar Pradesh
C) Bihar D) Himachal Pradesh
41. 39R JeRT Doz TN §F IFONRTRY, BRoN
WB0Ww0.
ooz, &3, TFRT
a. mmm'ﬁ 1 goomy,
b. dxoe® 2 RBR
C. BAO 3 eomesd
d. Sow 4. neE
a b c d
A) 4 2 1 3
B) 3 2 1 4
C) 3 4 2 1
D) 4 2 3 1

Arrange the states with their respective
dance forms:

State Dance
a. Maharashtra 1 Bhangra
b. Gujarat 2 Bihu
c. Assam 3 Lavani
d. Punjab 4. Garba
a b ¢ d
A) 4 2 1 3
B) 3 2 1 4
c) 3 4 2 1
D) 4 2 3 1
42. WITH mmz:sd DBRTO THETOR
A) 3ecoT® B) coohe3ndd
C) 3owdns D) 2ex30
The first capital of Bahamani kingdom was:
A) Berar B) Raichur
C) Kalaburagi D) Bidar
43. _RYNTY IPJYT %e)ag SROD LUTTQ WY?
A) 3T B) Zexmom8
C) songs D) oy



44.

Which of the following is not a subsidiary
of Krishna River?

A) Ghataprabha B) Hemavathi

C) Tungabhadra D) Malaprabha

PAN® DF T SR

A) Private Account Number

B) Postal Account Number

C) Permanent Account Number

D) Personal Account Number

Full form of PAN is:

A) Private Account Number

B) Postal Account Number

C) Permanent Account Number

D) Personal Account Number

45. B2THS wammg msoﬁmn FOTLTRNTT

AOF):

A) 5w B) mo0xs3

C) toedpes® D) aome dws o

The major greenhouse gas is:

A) Oxygen B) Nitrogen

C) Ozone D) Carbon Dioxide
46. Sagmozﬁcﬁ ERTZ0WOT ________ QVOERMT)TR.

A) 08%es3 B) @gosonieay

@) ARE D) So-230

Deficiency of iron leads to

A) Anemia B) Night blindness

C) Scurvy D) Beri Beri

47. T8y T 6@33& ﬁﬁ@o&ﬁoﬁz TOW LRWTIT:

A) oozs 9xT° B) dneme oome
C)enod 730" D)0k @ #I0°

The scientist who discovered medicine for
rabies is:

A) Lord Lister B) Ronald Ross

C) Louis Pasteur D) Edward Genner

7

48. mmﬂomsse% O3 VWY JESOWAT.
A) BBSTVT TNFT FIRT
B) @ 3tOxm SoDmBBRT BZNRD
C) B30 BNTRIT BIRT
D) Zw3)300x 03¢ w3505,

The demographic dividend is reflected in:
A) the increase in the labour force

B) the increasing elderly

C) the increasing youth population

D) the increasing child population

49. 33 Flvs OITE, — SO BWOITLI.
A) z3530 14 B) S0 26
C) Fenzmo 08 D) Swee 08

World Women’s Day is celebrated on:
A) January 14 B) March 26
C) February 08 D) March 08

50. 2.0T :‘»o%eszsg APRILaosz?»& DSULO Q0%

W, AUGUST ROWTFY, Ten
WBOHWTITH?

A) BVHVTU B) DXIXVY

C) DWIWUV D) DXIXVW

If APRIL is coded as DSULO in a code
language, how would you write AUGUST?
A) BVHVTU B) DXJXVY
C) DWIWUV D) DXIXVW

51. 302N 17 Tone 188ch SpRe
2R0II DI,

A) TOR0RT B) s&¢3

C) Tos3eod D) godne3

The articles 17 and 18 of constitution
provide for __ equality.

A) Social B) Economic

C) Political D) Religious

52. TOQGINT OIFRW NP OIW e.—az);a@‘séoﬁmd
SR TRIIR?
A)l4 B)15 (016 D)17



Which Article of the Indian Constitution
abolishes “Untouchability”?
A) 14 B) 15 C) 16 D) 17

53.:10;3@555:4 e:oq%é?:‘oa% WOSTD VRTTF) BRT:

A) U@%@’é B) 5oz3)

C) Tes ®0¢, D) Bdpeseg 59,03000H
The final authority to interpret our
Constitution is the:
A) President

C) Prime Minister

B) Parliament
D) Supreme Court

54. ZoQToTH) U@E‘éﬁ BOTT ToNR moﬁ:?ﬁeéﬁ:&

— IyRYY Snergond.

A) QT B) =00

C) oy, D) &

Indian Constitution has divided the powers
and function of the state into ____lists.

A) Two B) Three

C) Four D) Five

5S. m% POFRTY  TRQIJHNTT ‘W oe:

BWOIIZ0IITy, OINT We0IF TTLow

030! é@%@ﬁd?
A) 2D Fes B) cosooded
C) gzt e D) 300BEE STITE®

From which historical work were the words
“Satyameva Jayate” appearing under the
national emblem taken?

A) Rig veda B) Ramayana

C) Bhagawad Gita D) Mundaka Upanishad

56. HOOTRRR) T, WFT BIrI0R,NY wnn

9TH3TI?
A)1l B)2 03 D)4
How many ‘types of emergencies are

envisaged by the Constitution?
A)1l B)2 03 D) 4

57. — JROBRIT T BBRNTI,
m@&zﬂmnd.
A) 355 B) 320
C) 256 D) 324

The Election Commission is established
under the Article .
A) 355 B) 320
C) 256 D) 324

58. BOUTRITY AT, TROPRT TSr[NTE AT?

A)9 B) 10 O 11 D) 12

How many Fundamental Duties are
included in Indian Constitution?

A)9 B) 10 O) 11 D) 12

59. Tacod 533 TN ﬁﬁfacmg FRIVOTET® O33RTL?

A) Tpes &og
C)S3me R

B) U@@wé
D) Zedod aEvled

Who is the Supreme Commander of Indian
Armed Forces?

A) The Prime Minister of India

B) The President of India

C) The Defence Minister

D) Chief of Army Staff

60. TeoToR SCIREMTRY, RN WIPR TWRRDIR?

A) B8 IRFE

B) Q0@ IRIENEH

C) 0T IRENAW

D) "om&s a2 0cmes

For which period the Finance Commission
is formed?

A) Every year

B) 2 years

C) 5 years

D) As per the wishes of Parliament

61. VR TANY> RONRNRVIT DNCTIEOD NOR
2 n
)] B=d [©]

[Sintalerss
A) TR onwd
C) wowd) gonsd

B) 33 &ond
D) 8¢ Hizzon

A Presidential Ordinance can remain in
force
A) For three months  B) For six months

C) For nine months D) Indefinitely



62. FoTIT HT WRVEITNY SO NOFY Wo3TY) | 67. FPeoh FOLO-TRETR) — JtIoDY OTTTRNT.

— 3onwnsh. A) 3eoq B) ooz,
A)3 By4 (C)6 D)9 C) 3D=8E D) 3093 o3mpTRe 9
The maximum possible gap between two Local self-government is included in the
sessions of Parliament is __ months. _ list.
A)3  B)4 G6 D)9 A) Union B) State

63. (RO mRosd: __ SohiRen w3 e C) Concurrent D) None of the above
WOTEOTHTT, 68. o3 dTwoTL U@%COSD TS AT,
A)18 B)21 (C)22 D)25 SBORRHITI?
Citizen of India can vote at the age of A)ong 14 B) 2330 25
___years. C) ©3peT 2 D) 2330 26

A) 18 B)21 ()22 D)25 On which date is the National Voter’s Day

64. TTFLTT 2ECITLOFH) %mad [RED): celebrated?
A) 1956 B) 1957 A) 14th August B) 25th January
C) 1958 D) 1960 C) 2nd October D) 26th January

The unification of Karnataka was
09. 6@6%&305:{2 waéag RS ﬁdwmoﬁ:% 533@'5@&.53

achieved in the year.
55?&56 50936 QTP?

A) 1956 B) 1957
C) 1958 D) 1960 A) 79 B) 84 C) 52 D) 66
65. %803, 03T TOTIT TPH XeRTS CARTINTTH? How many seats are reserved for Scheduled
. B30 o oo ?
¥R ROREE TP AR e Castes in the Lok Sabha?

A)on de B)ago xore A)79 B)84 ()52 D) 66
C) wORIF $NnS* D) 22.2.330=0330 ) ) ) )

-
Who was the First Speaker of Independent 70. S90S CIYTH Oo%s Hes g

India’s Lok Sabha? A) o3 B)g&

A) Rabi Ray B) Hukam Singh C) 3= D) @0

C) Bali Ram Bhagat D) G.V. Mavalankar Which of the following is not a State
66. Y TR SeeITPNY woW WHRITT Service?

@Z%iéoﬁmd — ST, A) Education Service

A) m@m B) Agriculture Service

B) e0zto e C) Co-operative Service

C) Sresmglod RepTe D) Postal Service

D) 3020, 0030563
379 71. ZORTRRF) PRTIT, — QO PRCAHIT

A) 28R U@@ B) oc3eds UO@
C) ooy wies D) wdninis ang)

Joint Sitting of Rajya Sabha and Lok Sabha
is presided over by:
A) President

B) Vice President The Constitution declares India to be a —
C) Speaker of Lok Sabha A) Federal State B) Provincial State
D) Chief Justice of India C) Union of States D) Quasi Federal

1 9 . ______________________________________________________________|



72. T3 R, Hemomnnsd w3 dneTon FFTOND:

A) Doz B) 3=0m8¢

C) geog D) 3008 cinmnacde g

Defence, armed forces and foreign affairs

are items included in the __ List.

A) State B) Concurrent

C) Union D) None of the above
73. 2,00 MFHRY FHBWT T R[RCOTIONI

Y BT TSRRTT.

A) oD Tgw B) T0w0003 B0

C) @ors g D) InT Jo3od e

A body consisting of persons registered in
the electoral rolls in a village is:

A) Grama Sabha

B) Panchayat Samithi

C) Ward Sabha

D) Nagar Panchayat

74. $003 TICHOTHT DTHRY Bosd Sy
A)36 B)46 C)97 D) 106

Union List consist of how many subjects?
A) 36 B) 46 C) 97 D) 106

75. %007 Whmewre $odRenmy) 33 I$NT oﬁm@dé&
zﬁ:mﬁ%mfaﬁ:& SBDHRRY?
A) Snes 1 B) UD%&'J%O& TR
C) oo, 7 D) ﬁ@@oﬁo [T OND

The Central Election Commission does not
conduct the elections to the:

A) Lok Sabha B) President’s election
C) Rajya Sabha D) Local Bodies

76. OTITY ITTO TJEST BOPNY To03Ho3n
2ROBRT IRER):
A) 1919 B) 1909
C) 1904 D) 1912
In India, the Co-operative Societies Act
was passed in which year?
A) 1919 B) 1909
C) 1904 D) 1912

10

77. 3XTO TOFNY BTHT Temmeddcdy

BNTOTT.
A) 903 B) c038
C) 2083 Tonp RIETW D) xots

The members of a Co-operative Society
have  liability
A) Unlimited

C) Joint and Several

B) Limited
D) Joint

78. 03 Hopsy __ BOSHR, BRI,

A) TR B) 28¢5

C) ooy D) Ua@g)

Apex Society represents ___ level.

A) Village B) District

C) State D) National
79. 3TF0 BOFRLY WOTZHT BIH):

A) T VY

B) 2.2) ﬁzﬁﬁs WO W3

C) BIND

D) 2.0 Redd 1o NI

The principle followed in a co-operative
society is:

A) No vote

C) Multiple votes

80. z=%0 mozne ﬁo&ﬁF%ﬁd%Oﬁ:?&l QORI

B) One member, one vote
D) One share one vote

xo:);oﬁa:
A)RCS B) RBI
C) SBI D) SEBI

Which body regulates the functioning of
District Cooperative Banks in India?
A)RCS B) RBI
C) SBI D) SEBI

81. TOFT SweHY TbFTIY, CIRTL QRTT?
A) TORETSE B) 8220028
C)AoF®3 DoBE® D) 073D

Who is required to maintain the minutes’
book of a Society?
A) Secretary B) Treasurer

C) Managing Committee D) Registrar



82. 2,0t BoFT TOICDTLRER, RO FBCHUTTD?

A) QCDIAKD B) 3083000
C) ZoNTRS D) mowmms, [e
What are the Byelaws of a Society?
A) Rules B) Acts

C) Constitution D) General Body

83. ITTT wew IR
A) BATIOD ToNR FTOAT ATOOD
B) x@;moja
C) ©TZTT FHOOD
D) 2.00moN 2.2)30, Q0N QTR

The basic idea behind co-operation is:
A) Self-help and mutual help

B) Self help

C) Mutual help

D) Each for each and all for all

84. ‘8&@:3565:4 3R N0 JewE ACRTRTH:
A) BT FROT ITOT
B) 3T @c§$c§r @p)
C) . QOORO FOre
D) 37 3ns*

The term “Find Raiffeisen” is suggested

A) Sir Frederick Nicholson
B) Sir Edward Law

C) Dr. William King

D) Sir Maclagan

85. U8R Q-3TTW JIW SuNee — TY
TOLAWTOTD.

A) DETERL RET BOFNW

B) ©9@p [ES BOFNW

C) BT ATBER T

D) 23¢93 20BR @Y

In India, the two-tier credit structure is
used for:

A) Long term loans B) Short term loans
C) Both Aand B D) None of the above

11

86.198139 TuITRT [T FWIBw B
m@aﬁﬁﬁ 5TRTH IRR.
A) NABARD B) NCDC
C) NCUI D) &0ed3 29

The Sivaraman Committee constituted in

1981, recommended the establishment

(1)
A) NABARD B) NCDC
C) NCUI D) All the above

87. NCUI «omg:
A) National Cooperative Union of India
B) Natural Coir Union of India
C) National Coir Union of India
D) National Commission for Universities in
India
NCUI is......cc...
A) National Cooperative Union of India
B) Natural Coir Union of India
C) National Coir Union of India

D) National Commission for Universities in

India
88. 3-70W TR TN RYRy wereoRd.
A) B, Doty ToTe DT, AFFAO ROBND

B) 303, By Tone To%, AHTVO LROTNW
C) 2R, TRTEDT Torie ToF AZTO LRHOBND
D) oo, 9388 Tone oo RBTVO LROBND
Three tier credit structure include:

A) District, State and National Co-operative

Banks
B) Primary, District and State Co-operative
Banks
C) District, Regional and National Co-operative
Banks
D) State, Regional and National Co-operative
Banks
89. ‘wxdenin’ Frt'wh, wHIMIRRLAT KoFodk:
A) NDDB B) NCDC
C) NCHF D) HDFC



The coveeevecenencenennnns implemented the | 93. 350 BoPRYY TpRTHY VL0 LOTT:

“Operation Flood Programme”. A) ATHOOT ACHOZED
A) NDDB B) NCDC B) 3503003 008D
C) NCHF D) HDFC C) QLOFBOOT AOPOTED
90. LAMPS «033: D) QTee 33 DOTBLON0T AODOTEd
A) Large sized Multipurpose Cooperative Democratic control in co-operatives is:
Societies A) Control by member user
B) Large Sized Adivasi Multipurpose B) Government control
Cooperative Societies C) Control by Registrar
C) Large Agricultural  Multipurpose D) Board of Directors

Cooperative Societies

94. 33 3ISNT O30E TOZO® W%ﬁdﬁ%‘b ‘9T’
D) 098 SnmhTe 99 @

RTOROT WRLODHTTNI?

LAMPS stands for: A) Tt AHTO ToLd YOIVTWIT FOF

A) Large sized Multipurpose Cooperative B) 300 3¢ ITTO DO YVTIWIT LERE
Societies C) wdpewo wed

B) Large Sized Adivasi Multipurpose D) 2093 29

Cooperative Societies The products of ............. is popularly

C) Large Agricultural Multipurpose known by the brand name ‘Amul’.

Cooperative Societies

A) Katra Cooperative Dairy Society
D) None of the above

B) Kaira District Cooperative Milk Producers

91. BODGONT 30 (RNATY FTTTZY, ZeOBRNTS? Union
A)V B) VI C) Baroda Dairy
C) VII D) IX D) All of the above

Co-operation is included in the 95. 3R0&TD SA3RCNTR) NNRTWO TRTO JOXT BOERY,

schedule of Indian Constitution 3C3R0men BNIODR, Newa.
A)V B) VI A) dTT0RT® B) 377 &3ns*
C) VII D) IX C) a0RRe D)uz T3
92. 33 INIZINLY wséaﬁmmdmd S 820: The .ioivviiiiiiinnn. committee was
A) Q0T3, ges@, 5353323?%3 g DD V33 appointed by the Planning Commission of
AR ' India to prepare a Model Cooperative Bill.
23 . .
B) cormre mone WYAE OB RRW A) Sivaraman B) Sir Maclagan
- - C) Khusro D) Brahm Prakash
C) 3eT Tonp TR ToWFIT FY
D) 20eHAT ITHNS ﬁzg 96. POTIT TTTOO BEOTLOR TOTTT.

A)R.eT. By B) ﬁﬁooémo&o WOTID

The odd one out in the following is......
C) BT Jedee® D) Iherm® DO0RTT

A) Fuel, Oil Electricity and other power

charges. | ieiiiieeeeee. was a pioneer leader of
B) Store and spare parts consume Indian Cooperative Movement.
C) Direct or indirect labour. A)D.R. Gadgil  B)Vaikunthbhai Mehta
D) Cost of goods purchased C) Sardar Patel D) Verghese Kurien



97. PACS «0z8:

A) Primary Agricultural Cooperative Society
B) Primary Association of Credit Societies
C) Primary Agricultural Credit Society

D) Primary Association of Credit Societies
PACS is:

A) Primary Agricultural Cooperative Society
B) Primary Association of Credit Societies
C) Primary Agricultural Credit Society

D) Primary Association of Credit Societies

98. VAMNICOM @z 89 iéémﬂd.

A) IZTTD B) 3055

C) Qodwes® D) %@pmmwﬁ
VAMNICOM is situated at:

A) New Delhi B) Pune

C) Indore D) Hyderabad

99. NAFED=;, 72

100.

A) National Agricultural Co-operative
Marketing Federation

B) National Agricultural Federation of Co-
operative Marketing

C) National Co-operative Fisheries
Federation

D) 0I5 clnBR ©Y

Expand NAFED:

A) National Agricultural Co-operative
Marketing Federation

B) National Agricultural Federation of Co-
operative Marketing

C) National Co-operative Fisheries
Federation

D) None of these

‘TET WRE TRTIWT WRCRB'R ST

TRRTE:

A) Q.83037°.63T°.2.0F°. 2.

B) 2.63035°.630°.2.630°. 2.

C) B003m; "

D) sog50ws
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‘Linking of credit with marketing’ was a
recommendation of

A) AIRCSC

B) AIRCRC

C) Saraiyya Committee
D) CRAFICARD

101. .05 FZT0 TOoFTR):
A) 20T O
B) 7050238 S9,00T 200N
C) Sgne mozw
D) &0eds 2g

A co-operative society is:

A) An enterprise

B) Norms of social justice
C) An association of persons
D) All of these

102. 3250 ToPw Lvgies:
A) 2OTVF IO FOWIVRT LWNINTTIY,
BRTWCINTHTD
B) so@weerdeed Remss e:oapw@@(p
C) BRF 0B Towseod ITHeTI
D) ZTAT 22eTI w003, ROTOOROTYTO

Objective of a co- operative society is

A) Removal of social evils of capitalism

B) Development of corporate life

C) Neutrality in religion and politics

D) Increasing the standard of living of the
members

103. 220 (ICA) Qowd:
A) International Co-operative Association
B) International Co-operative Alliance
C) Indian Co-operative Association
D) Indian Co-operative Alliance

ICA stands for:

A) International Co-operative Association
B) International Co-operative Alliance

C) Indian Co-operative Association

D) Indian Co-operative Alliance



104, _ 0RTDY TOFNERY, W Tone Wk The main source of profit of a co-operative

BrRmOdoiny Topndonmd SNersOITOND. bank is:
A) 1904 B) 1912 A) Interest income
C) 1969 D) 1984 B) Trade income
Societies classified on the basis of liabilities C) Miscellaneous income
limited and unlimited in ____ Act. D) Locker rent
A) 1904 B) 1912 109. semaies 933 SRT:
©) 12;9 - D) 1984 . A) National Bank for Rural Development
105. @ 5~ O LT THT 2 B) National Agency Bank for Agricultural and
SewTTTTh:
Rural Development
A) QLOTIH } .
C) National Bank for Agricultural and Rural
B) B¢ 3

Development

C) oo, whoume wodeen
D) None of these

D) &0eds oInRTR @Y
NABARD stands for:

The State Co-operative Election Autority
A) National Bank for Rural Development

shall be appointed by:

A) Registrar B) National Agency Bank for Agricultural

and Rural Development
C) National Bank for Agricultural and Rural

B) Government

C) State Election Commission

D) None of these Development

D) None of these
106. 3$NS o35 gos SPETED A WY?

A) ﬁed\) mozgmeoj B) QTO&S 110. aﬁei)i)@ioﬁo m@ﬁﬁoﬁﬁd ﬁﬁ?@:
C) Sewed D) Q0emen AR A) 1973 B) 1974
Which of the following is not a component C) 1975 D) 1976

of own reserves? NCCT was established in:

A) Share Capital ~ B) Profit A) 1973 B) 1974

C) Deposit D) Reserve Fund C) 1975 D) 1976
89 g

A) o0 ATTO BIMOT FOFT

A) ST°.2.%. B) Swozs B) 0008 "BT0 BFHeod RoF
C) 8T .27, D) 52030338 C)wome FFFO BFmw0d FoF
The regulatory and supervisory authority D) 0D x50 %mmbé Boz
of PACS is:
A)RBI B) NABARD India’s First Dairy Co-operative society is:
) RCS D) Secretary A) Kaira Co-operative Dairy Society
108. 2.0m B0 tR,033 o3 s Fpesod: B) Madras Co-operative Dairy Society
A) 08 ST B) w00 &m0 C) Bengal Co-operative Dairy Society
C) 233 sodh D) ©230°R908 woar D) Lucknow Co-operative Dairy Society



112. 370 LOTRORZONTEY, IR TR

O30T DTN 3e?
A) 33
C) moRd, =l

B) 3o0Fmde
D) ev@m08

The co-operative bye laws can be amended
only with the approval of:

A) President

C) General Body

B) Secretary
D) Sub Committee

113. 35 $9NT SRR WTAD ALTDHT BHODY?

A) TOONFH TV WVONTNRD

B) @n&3nd

C) 28T RODAAROONT FeBOND
D) 3nm o3,

Which of the following is not an earning
asset?

A) Loans and advances

B) Investments

C) Claims with other banks

D) Cash balance

114. 3% TFe3 [RTOCHRY, ene FTOBUTT:

115.

A) WDV, ABFTVO FOFNY F0%)

B) 505@Ee3 TOIT ITIT BTT00
ROFTT TOKR)

C) 3307 £3% ATTO 0BR,08

D) S»TO ATTO FOFRY F00H)

Brahma Prakash Model is also known as:

A) Multi state Co-operative Society Act

B) Andhra Pradesh Mutually aided Co-
operative Society Act

C) Karnataka Co-operative Vision

D) Model Co-operative Societies Act

TXTT0 TOFNY «RWT m;c"rawa'a’ool
ANARPORTTTH:

A) eI B) m%0¢ 3

C) QW OFID D) 2ToBe )T
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116.

117.

118.

The manner of a co-operative audit shall

be prescribed by the:

A) Director B) Government

C) Registrar D) Auditor General
AXT0 BOPFREY 66& STRRITRY, SeWDTTTL
C33vT0?

A) Q20TFFH

B) éz&gp@ QTEFJTD (SRE®)

C) moRd, =l

D) 500308 JATeETTD (SREF)

Who appoints Auditors for A Co-operative
Society?

A) Registrar

B) Additional Director (Audit)

C) General body

D) Asst. Registrar (Audit)

ABTO PRUYTOT TAT> VR 7
BRWTIT.

A) 0D B) 3525@%;

C) 008 D) Ss=edn

The green colour in the co-operative flag
denotes:

A) Justice B) Harmony

C) Peace D) Growth
PRUTTY TE TIIF ITTO TTR)

TRTOFTNE ARF):
A) IFowT® 14 B) ©dneo 14

C) wdnewt” 02 D)IBows® 20

In India, the co-operative week every year
begins from:

A) November 14
C) October 2

B) October 14
D) November 20

119. oz IR0 23RE3T TTHT> 0330307

A) TRFPNT R @apw@% méo&
B) 3¢08 Zxmw00 OB

C) INT FZTO L0

D) s03ENT ATTO BOTNRK



Who are the members of the State Co-
operative Bank?

A) Primary Land Development Bank

B) Central Co-operative Bank

C) Urban Co-operative Bank

D) Primary Co-operative Societies

120. 5233008 BRRO LARKT MIICIRG TRF:

A) 1904 B) 1912
C) 1929 D) 1935
National Co-operative Union of India was
established in:
A) 1904 B) 1912
C) 1929 D) 1935
121. 330 TOFTN oTRNRR SRR,
A) mmu&@p B) ua:%@s
C) TR0 D) o3

Co-operative societies come together to
form a:

A) Confederation
C) Association

B) Federation
D) Organization

122. 0e8en ARODRY, — HOT TRRIRYRHI.
A) Bemedned B) ds¢ <oz
C)S@mes oozl D) Hedd wommee

The Reserve Fund is appropriated from:
A) Deposits B) Net Profit
C) Trade profit D) Share capital

123. 3350 RoFT mﬁég IO 1 —
ReMnY Ty WIHIR.
A) BRTY B) &oemenonsd
C) Q30xTe atvzm g D) F0eds Qe
In a Co-operative balance sheet ............
appears liability side.
A) Depreciation B) Reserves

C) Undistributed profit D) All the above

124. 33550 aowzgzoa@ BRT DRTOTORPI®
IR,
A)2

B)3 C) 4

D)5
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The term of office of Co-operative
Ombudsman is ___ years.

A2 B3 C)4 D)5

125. o003 Tonwe ﬁzi R3oNY BUEENoS
BRIV FREF IRIH):
A) 3033 B) wo@wme¢ IQ
C) TT/O (<o) D) A0 €0

Excess of credit over debit in the Income
and Expenditure account is
A) Deficit
C) Surplus

B) Capital fund

D) Drawing

Beus: $9NT ITReR (T3, Bosf 126-130) ©JYN
RNOT BT TOIPFOD CRINYY TTRFHEITOR
VTR ¥ TWIT WFFRYY TRTI, HDER.

126. ‘80T’
A)TO B) Qz®
C) $303 D) &3
127. ‘Qssc’
A) BRW B) BRODE
C) 308, D) 9%
128. ‘3w’
A) DI B) evon
C) 98 D) sHon
129. ‘o’
A) DR B) 3
C) =y D) 39©
130. ‘=@’
A)TRS B) 3302
C) d»=WT D) B3

BeuNn: YR 3T IWneR (TP, "o, 131-
135) &daw%zs?s TTNT, B0 BRLTOES TOITFOD
CRINLOT TOTVER.

131. Wﬁdé
A) SR B) 9RI3
C) 83358 D) S890503



132. eved

A) o8 B) ©eg

C) QTHeE D) 03P @Y
133. 69325

R=¢d

A) ©33% B) 3JFeg

R @

C) 337, D) @300
134. »on

A) gon B) mon

C) &3on D) ©zd0n
135. &&'aeé%

A) @e%y  B) 7iEg

C) g D) e,

Rousd: S 391 (T3, R0s3 136-140) SRR DRMLIID,
e HYTY FNOT T, TOIRFOD TRTALR, VAT,
HRNYS SBrRR, DHOHT TATI, HHSR.

136. VTTD RVBRD-DRNS WFF
A) a‘a@eomod QTITHT
B) ZDJ000T o)
C) TZIW, LRZTOLRERNIT
D) 8 20eOT HQFP RO

137. 3o0IeH
A) STTREROT TRemd B) &8 TR
C) BOWB/TY, FeHJYID D) Qo3
138. IQR ¥y
A
C) Ty e D) 3m9@ed
139. SOz e
A) JeTeoee B) 03PN
0) Ebag))oirae&% D) QINDIT
140. “zﬁ% 523%”
A) Beedh zﬁ% BW), B) ﬁséoméa%@m
C) RN D) Fexd [oBFT0

BeuS: 39NT wFNYY (TP, "o 141-145) A 2¥3
PNTQ IRTWLRT BONET TRTIN T, IR
TRTAGR, VEBRNTE. VPYNYY BRTTOIT, HWER.

141. dmgpoﬁ:eg CRO03ROTH e.-sgcéow ARYMmoRD.
A) QTB) B) 83
C) ©IJo3 D) @ﬁmg

142, 933N BREAOHT® 0CROITONSD oy,
BORE, THWTH.

A) TORPBT TOTLIIND

B) TpR0eE SREIOND

C) ToRRBT JIFN

D) I=0% Aewo mﬂ@mﬁa

143. 33@@?2\ TROTLOD 32;@63 200 &3z P T %%ﬁ@zzﬂ.
A) wdé mgs B) @00 mgs
C) az;gm D)wae%g a-b:g

RRTWT T[T #ZW OFR, BeeR
A) 9223 B) Q03¢
C) u3¢e3 D) TRTILCE

TR, FoN WO FRTVMEOCHE, B0
pLielovstcg md;sesad erocgeéa) RRSTRTTL.
A) 8T RWOD

B) 3000 TEE 2200

C) B8Zo00oD RWOD

D) d%ﬁé TOONFTEE RAWOD

144.

145.

Bew: 85 $9R ey BWNYY (T, 50935 146-150)
WOTH TW NVTIHNG MO BeDIQY ©osT T3
TR,

146. A)DIR B) Zewmoen
C) TRERERD D) toRz0%
147.  A) %8 B) &3
C) ISZS D) hsy
148. A) 3@ IR B) ﬁb@zjw@m
C) el IR D) 323
149.  A) 0@ B) &Tmoee
0) 8¢ D) o0
150. A) R B) &%
C) s D) 3033

B 398 BTN Do), TIBNEY (TF, "o,
151-154) 2.0TH [RE ¥Y TIT TT. YLPT TR,
UIOTW TTND. Y /R TTIY, T2

151.  A)®®RT  B) g
C) B3Tsh D) mod

152.  A) &3, B) wEneo
C) QD D) sieod



153.  A) &F B) e
C) TRR) D) TR

154. A) @@5033 B) 300080
C) donsd D) 2%Nes

BeuS: 9NT PINYY 1T Tws BRWAT N
ZTNFT BN0T FRTRT PRI TO3TOF O
SRINTY BOCIPT TRTBI), MWEX SWHTT
RPOTE 3e3Q” 0w (4) ), TSR, (T3, 30935
155-157)

155. NoRPRB0TT WBeR3NY 2W0TH =INE
A) MOTRRE B) Moopxe
C) nogwos D) B0= B3
156. S300T° 2OWTOTH FTRFE3T TR TOF IR
T30S,
A) DoERe3I  B) Uo&ir%egw
C) UO%&%@%& D) R5o0s e3edy

157. %03 z:geg.%es B3N
A) @38&%@3 B) o3c3

C) =33 D) DOTR 33

BRuIR: 20O WLITHB NE FOCIPT YIT THER
VBT BJ FOWPT YVIT SO, TP (TY, B0,
158-162)

158. w.om =W, SRS WSHI W SN

‘@dd%d)’ ................................
A) [RTOWS B) xomémzés
C) TOTT0 WoWF D) B:F 0w
159. ‘TTXRE” BIOT DOR?.eevvereererererrrasrerenens
A) BT B) M&309
0 Eﬁe@@ﬁOQ D) ORFFROH

160. ‘RecQRRT OB _ 2OT DY JYoD:
A) BRANIE B) BUNaE
C) TRTFSE TUNZRE D) IRNSE

161. 3, 3. 1408 ISZRTE Fe0T 20w NeF TFRISTY
BHW TWRVE Q0T BEYTRcvevvvrecvvrrreen
A) B. Q. IBAOZIT®
B) 0. JT0F°
C) RRe0T o—"JJes
D) &e¢. 0. 330803

18

162. SURAYBROT TJS.oerrcrerennrecnnns
A) 52‘%8@ B) @y
C) &30 D) a3

163. TWTW TFSRACHY WEBORYILR TR

B) 40
D) 50

BHRLY ot BHR IRRHTH?
A) D B) 3p¢%) 39%
C) BRgn D) 3533

164.

165. ‘03’ ITT 3%5 C350H)TH?
A) 83 B) =3
C) I8 D) ITF
“BORT TRBWPTRE SNDWRHTL ISR 88
RONRPTHRH)TH:
A) ORI BT}

C) 33T oY

166.

B) Sem
D) @oNeR Ne3ned

167. “e.-vsez Be=T =00 faql TeTT YVoE3?” HOTH

A) TVTOTTA
C) BNRF I

168. ‘WATS Q0TI TROTOFE

A) OSRTONOWD B) Q2008

C) VT3 D) R@IYT
169. ‘Wwesow’ VTR, R W3RN ST AT

A) BT + B30T B) 88 +&3500

C) B + B30T D)3t + I0T
170. Bmesd SWTY SNTHE TR

A) BRI C) s8Rz

C) s383e3 D) B3 2
171. ‘SR8’ AR

A) BN B) @&g@ﬁr

C) 303w D) 2RI

172. 3@ HIT BeTO FWOWE,
A) @gwaa; B) xons,

C) ef)z‘%mmdeés D) 33335928



173. =3 rradoswaﬁl TRHFRRPY S zﬁe% .......
A) DI ZOMwT

B) &30I 2omed
C) 0B WOMT D) mﬁs WOMPT

174. SEBNEW QOUWIT.covvvvvvrrrrrrrs (gl
A) FRITTO B) IBFTHS T
C) &%OoRT o D) BORF 2O

175. ‘weown’ 33 JIT PR
A) QONET
C) Foox*

B) &%0TRIQ
D) e nes®

Name the Part of Speech of the underlined word for
Questions 176-180 and mark the correct option among the

given:

176. Here is the yellow rose.
A) Preposition B) Adjective

C) Pronoun D) Conjunction

177. Think about the situation.

A) Noun B) Adverb

C) Verb D) Preposition
178. He looks disappointed.

A) Interjection B) Adjective

C) Preposition D) Noun

179. She impressed everyone at the interview.

A) Pronoun B) Conjunction
C) Noun D) Adverb
180. The fox jumped over the wall and escaped.
A) Interjection B) Preposition
C) Conjunction D) Verb

Choose suitable articles for the following sentences
(Questions 181-185) and mark the correct option
among the given:

181. He was ___ member of the board of directors.
A) An B) The
OA D) An & The

182. I took three hundred rupees out of ___ box.
A)A B) The
C) An D) An & The

183. Itis pleasant toread ___ bookin____ afternoon.
A) The & A B)An & A
C) A & The D) An & The
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184. He is __ European and not ___ African.

A) The & A B)A & An

C) A & The D) An & The
185.1 bought __ horse and oX.

A) An & The B)A & An

C) The & A D)An & A

For Questions 186-190 add “some”, “any” “one” or
“ones” as required and mark the correct option
among the given:

186. There isn’t boot-polish in this tin.

A) Some B) Any
C) One D) Ones
187. You have ____ fine flowers in your garden.
A) Any C) Ones
B) Some D) One
188. I can’teat __ more potatoes.
A) One B) Any
C) Ones D) Some
189. You have lot of apples; please give me .
A) Any B) Many
C) One D) Ones
190. Don’t make ___ noise. He wants to get ____ sleep.
A) Some & Any B) Some & Any
C) Any & Some D) Ones & Some

Fill in the blanks using correct tense form of the verb
for Questions 191-195 and mark the correct option

among the given:

191. I often ____ with a pen but now I am using a
pencil.
A) Writing B) Written
C) Write D) Wrote

192. My father is not here. He _ to Mumbai
Yesterday.
A) Go B) Went
C) Goes D) Gone

193. I learnt grammar when I___ a private soldier
on the pay of six pence a day.
A) Was B) Were
C) Am D)is



194. It is five o’clock now. They ___ learning

mathematics since 4.30.

A) Were B) Are
C) Have D) is
195. While he was swimming, someone ___ his
clothes.
A) Stole B) Stealing
C) Stolen D) Stealth

Identify the wrong part in the given sentences
(Questions 196-200) and mark the correct option

among the given:
196. 1 |does not| know | the truth.

1] 2 | 3| 4
A) 1 B)3
C)2 D) 4

197. He | speaking English | with a peculiar | accent.

1] 2 | 3 | 4
A) 1 B) 3
O 2 D) 4
198. He is | one of | the famous | author.
1 | 2 | 3 | 4
A) 1 B)3
C) 2 D)4
199. He| called me| as | a fool.
1 | 2 |3 | 4
A) 1 B)3
C) 2 D)4
200. He | agreed | my | invitation.
1] 2 | 3| 4
A) 1 B)3
O 2 D) 4



